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QUESTION 1

A storage architect is reviewing customer as-built documentation and a proposed design for an HPE 3PAR StoreServ
deployment. The array must be installed in a co-location facility in facility-supplied-and-managed racks. The storage
architect has determined that service clearances and power are adequate. The proposed design is storage-centric and
will require two racks to accommodate all the disk enclosures.

What should the storage architect consider when validating the design?

A. The correct number of SAS Active Optical Cables (AOC) are included.

B. The correct number of InfiniBand cables are included.

C. Expansion is only supported in HPE racks.

D. The correct number of Fiber Channel Cables are required

Correct Answer: A

QUESTION 2

Your customer has a 10-node StoreVirtual cluster split between 2 sites that are 1 km apart and are connected by a
redundant pair of dark fiber links. The latency is far below 2 ms. Inside the Centralized Management console. 2 sites are
created and the appropriate servers and storage systems are assigned to each site.

What should you suggest to your customer when following the best practices tor quorum voting algorithm?

A. Run the appropriate number of managers on each site.

B. Enable Peer Persistence on Management Group level.

C. Deploy an NFS network Share for Quorum Witness feature in LH OS 12.5.

D. Deploy the Failover Manager (FOM)

Correct Answer: A

QUESTION 3

What should be considered before using Jumbo Frames for iISCSI network traffic? (Select two.)
A. They improve random I/O workloads

B. They can have a negative impact on latency-sensitive data

C. They improve performance of latency sensitive workloads

D. Large sequential read and write workloads can benefit from Jumbo Frames

E. Large sequential read and write workloads will not benefit from Jumbo Frames
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Correct Answer: CD

QUESTION 4

Which HPE storage management tool allows you to monitor the physical layer of a SAN in real-time including optical
parameters?

A. HPE Smart SAN for 3PAR

B. HPE Intelligent Infrastructure Analyzer Software (IIAS)
C. HPE 3PAR StoreServ Management Console (SSMC)
D. HPE 3PAR StoreServ System Reporter

Correct Answer: B

QUESTION 5

Which functionalities or use cases are included in all HPE Converged Storage offerings for software-defined data
centers? (Select three.)

A. Platforms that provide key elements of programmatic control of the SDDC infrastructure

B. HPE StoreVirtual VSA, HPE 3PAR StoreServ, and HPE StoreOnce VSA

C. Solutions that provide robust solutions, remote site protection, and simple enterprise- class choice for VDI
D. Converged Storage appliances that include the HPE Apollo and HPE Moonshot platforms

E. Platforms that support data center control that is entirely automated by software, providing the ability for applications
to request infrastructure resources

F. Storage platforms designed to support virtualization growth at all stages of the expected data and performance needs
over the life of the implementation

Correct Answer: BDE

QUESTION 6

The demonstration of iISCSI Persistent Ports during an HPE 3PAR StoreServ proof of concept fails. What is a possible
cause of failure?

A. The connected switch gets a loss_sync of the HPE 3PAR StoreServ port and disconnects the port immediately.
B. The connected switch does not accept an unsolicited ARP and does not update the IP address mappings.
C. Zoning is not implemented correctly, and the host could not connect to the partner port.

D. Port Persistence is not configured correctly, so the partner port could not be activated in a timely manner.
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Correct Answer: D

QUESTION 7

A storage architect is reviewing customer as-built documentation. The solution architect discovers that there are
Windows Server 2003 machines that will be virtualized in an ESXi 5.5 environment connected to an HPE 3 PAR
StoreServ.

What should be considered in the MPIO implementation design?

A. The HPE 3PAR array will handle load balancing on the hardware level

B. HPE 3PAR Multipath 1/0 should be used for Microsoft Windows 2003

C. MPIO will be handled natively by the ESXi host software

D. MPIO must be set to use MRU

Correct Answer: B

QUESTION 8

Which resource can be used to verify storage system support when using HPE FlexFabric 5900CP switches in a
solution design?

A. HPE QuickSpecs

B. HPE SAN Design Guide

C. HPE Backup. Recovery, and Archive (BURA) Solutions design guide
D. HPE Single Point of Connectivity Knowledge

Correct Answer: D

QUESTION 9
You present an HPE 3PAR StoreServ 8450 all-flash solution to a customer\\'s C-level management.

Which HPE 3PAIR technologies should you focus on to convince the CIO that your proposed solution is more cost-
efficient competitor products? (Select two.)

A. thin deduplication
B. adaptive sparing
C. express writes

D. virtual copy

E. virtual domains
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Correct Answer: AB

QUESTION 10

You are designing an HPE 3PAR StoreServ environment using HPE Smart SAN Which solution components are
supported? (Select two.)

A. Emulex HBAs

B. HPE 5900 CP switches

C. Qlogic Fibre Channel HBAs

D. HPE H-series SAN switches

E. Physical 3PAR Service Processor

Correct Answer: BC
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